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This Question Booklet is divided in three Parts. Part -1 : General Arithmetic. Part - Il : General Knowledge and
Part- [l : General Hindi.
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Part-1 : General Arithmetic consists of Question No. 1 to 30. Part-Il : General Knowledge consists of
Question No. 31 to 70. Part-1ll : General Hindi consists of Question No. 71 to 100. -
The Questions and their options of Part—I & Part—IlI are in Hindi and English medium. In case of any
discrepancy in Question/Option, the English Version will prevail. -
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This Question Booklet contains 24 Pages and an OMR Answer Sheet is kept unattached inside it.
A black ball point pen will be provided separately in the Examination Hall. Only this pen is to be compulsorily —
used during the Examination. If any other pen is used, then OMR Answer Sheet will be rejected.
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Imme@ately on receipt of the Question Booklet-cum-OMR Answe.r Shee_t, the candidate must ensure that the
Question Booklet contains all the pages, printing is legible and serially printed on each page, Question Booket
is not damaged/torn and no repetition of pages. The Question Booklet contains an OMR Answer Sheet with
the properly printed barcode. It is to be ensured that the printed numbers & the Series on the Question Booklet
and the OMR Answer sheet provided to the candidates must be same. In case both the printed numbers do not
match or the Question Booklet (including OMR Answer Sheet) is found defective the candidate should get it

replaced within 10 minutes of the receiving of the Question Booklet-cum-OMR by the Invigilator. Only after ensuring
these aspects, the candidate should start writing down the Roll No./Question Booklet No./Centre Code etc.

6. ﬁﬁw:mwﬁaﬁﬂﬁawmaﬁwémﬁﬁmﬁaﬁmﬁﬁl@
o § U € 3k WU TR | Wt TS 7T (Y AfEa) i ford | 3eTe % ferw, afy

Ul = 22003434 B, A =1 wepr @ wferse i Roll Number (3@ 4.)
2{2]ofofsf4]s[4] AREUUEEEE
T A TINF TR F RN A TR A e @R WA W, fmom s | O©O000000O
et T 37k formn gan B | gt wehr st # wefifq fom o STIRN AL, IW-T g%%%%g%
T I U T S 37ehi hl VTR TETd Tt ol T | 0000000
Roll No. : The Admit Card contains Roll Number which is of eight digits and all 010]0]0I01¢]0)
the digits should be filled in the box. One digit is to be filled in one box. All the 6161616161616]6;
eight digits (including zero) are to be written. For example, if Roll Number is
22003434, then it should be entered as below ©O© ®OOOO
OOOOOOO0
[2]2]ofo3[a]3]4]
Then the circle showing the concerned digit below each box is to be darkened ®OO®O®O®OO®

using black ball point pen. In the same way as shown in the figure alongside,
each digit of the Roll No. to be filled and corresponding circle is to be darkened.

7. -G 1 EH 3.0, IT-0E% W gd 1 d i 2 1 5 anaefi g T v S |
Series of Question Booklet is pre printed on the OMR Answer Sheet. It should not be filled by the Candidates.
8. 30 TH.3R. IT-T ¥ Gefia ¥t Teaqy Few 7.UH. R, I o ot o 2 | | e e @ v &
T € 3.3, IN-TT% W @ T e WA H FR I R

All the important instructions regarding OMR Answer Sheet is also printed on OMR Answer Sheet. Do read the
instruction carefully before writing on the OMR Answer Sheet and darkening the circle.

9. H-gR&rER o Ho1 100 9 & | Tft el o1 I o S R

The Question Booklet contains 100 questions. All questions are to be answered.

10. frdl & W @1 G& IW 3 9 W 01 (TH) 37 3T TSR duT e IW F Y HE 3 T B TR
fopeft TTH T IR T AR R A % 91 I FE A& G | AR frer A1 Qe W F A HO A TH § g forehed
TS T @ Y TR AR fe SR | fehey ¥ wea e # 9@ @0 § w1 fw See wigw a.en. A,
IT-TT & Heeaqu ew & forg 5 fen man @ |
If Answer of a question is correct, then 01 (one) mark will be awarded and no mark will be deducted for wrong
Answer. If you make entry for the Answer once, it can not be changed. If Answer marked is changed or erased

or darKened in more than one circle, it will be treated as invalid. The instruction to fill the correct answer by
darkening the circle has been given with example on point no. 5 of the important instructions of OMR Answer

Sheet. .
I T3 W < |
Continued on the next page.
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Use of Personal Pen ,

“adoet €0, Mobile Ph/|(;’enmI/\Nhitener/(;:,ucuIator/SIide Rule/Log Table/Graph PaPeT/Cha_"tS or ar

Use/Possession of abovnee’ Bluetooth: Pager, Wearable Device, Smart Phone, Watch etc. I strictly
Mater; . : ; : i ill stan

Penal proceedings will be in?ttiz:lljs will be treated as unfair means, and his/her candidature will sta

S8 aneff
ﬁ 3, @ w;:amﬁmﬁm T e o, - QiR A e
_ H.f%fﬁw,eozmwmaﬁasmmeﬁa;mmaﬂwﬁl
Any candidate attempting or USINg unfair means or copying or damaging the Question Booklet or OMR Sheet,
he/sg_z v::a“ oe expelled and his/her candidature will be rejected. Proper action will also be taken against the
anEfl“ij ;) N é‘i F;%;;elevant section of THE BIHAR PUBLIC EXAMINATIONS (PREVENTION OF UNFAIR

3T, W—ngﬁ“Waﬁgnmmmmmﬂy@qmﬁm@%@ﬁa@ﬁ—ﬁqﬁmﬁ%?@ﬁ
i,mmﬁ%ﬁ.@.m,mmmqﬁmm|

“Bar Code prlr‘mted on the OMR Answer Sheet must not be tampered or in any way mar
OMR Sheet will not be evaluated.

i - ﬁﬁw’%’Eﬁgﬁém—g@w%ﬁwﬁﬁuﬁrﬁa‘iﬁa@@ﬁﬁﬁﬁ%ﬁ?ﬁ?z‘—l%@-@.m-
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If the candidate Wrongly darken the circle his/her Roll Number, Centre Cod
Sheet will not be evaluated.

frferfiaa FTit A 3o arafie @ R o ST T 39T, R, ST o e T AT S |

OMR Answer Sheet will not be evaluated and the candidature of the candidate will stand cancelle

y electronic
prohibited.
d cancelled.

ked, otherwise candidate’s

e and Booklet Number, that OMR

d due to

following reasons.
(i) Maﬁmmaﬂéﬁammqﬁ%ﬁwmﬁmmﬁmmmmmﬁmqﬁmm [
In case of not sitting on his/her allotted seat and not putting his/her signature at the specified space in the
Attendance Sheet.
(ii) 37.TH.3TR. -G % Rl T T R TR TEEE W R S A Bred W

In case of making or leaving any mark of identification on any part of the OMR Answer Sheet.

(i) 30.TH. 3T, IT-T I Aarh B T & B W |
In case of not handing over the OMR Answer Sheet to the invigilator.

IR m—maﬁ%aﬁvﬁzﬁ%qmmmﬂaﬁaﬁm—gf&mmﬁmﬁaﬁﬁamﬁmn

After handing over the OMR Answer Sheet to the invigilator, the Candidate is allowed to take away the Question

Booklet with him/her.
% e -y 1 P g T & W, 3 T

Rough work must be done on the specified page of the Question Booklet, not elsewhere.

Eﬁaﬁﬁi‘sﬁmmaﬂ%ﬁmmmm%'

It is mandatory for the candidates to comply with the above instructions.
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qrT — |
Part — |
(;rrqmaiwrﬁrr?l?
( General Arithmetic )

Z@a’ b’C-qa dm%aﬁ%mé@ﬁs@w%%a,bw cmaﬁ@wé@l@
Wb,cmdmm@mmﬁ,ﬁaz_dzm: 2T | .
) (B) ararsa (C) ¥ (D) T & P T
ifa, b, c andd are four positive real numbers such that sum of a, b and c is even and the

sum of b, ¢ and d is odd, then a2 — d? is necessarily
(A) Odd (B) Prime (C) Even

afg 5 9H P 3k Q6 syt (aﬁﬁ)waqgcrr?rsv@r,aﬁaa‘m@saq’f%mﬁﬁ
I AT g

If the ratio of the ages (in years) of P and Q, 5 years ago was 5:7,t

(D) None of these

hen the sum of their

ages 5 years from now is years.

(A) 92 (B) 87 (C) 90 (D) 98

w Fifee TR 6 T e s @ R @ I 3 1A T 2R % e e A we
=t E12'E

A certain sum becomes 3 times itself in 6 years at a simple interest. The number of  [E]

years in which it becomes 9 times itself is

(A) 24 (B) 22 ©) 18 , (D) 20

afz <) gEmet aTd bl A, W, 4 T . 4. 400 B, A1 a 3R b o T JHI hHl TE&AT
gt |

The GCD of two numbers a and b is 4 and their LCM is 400. The number of pairs of a and b

are
(A) 3 (B) 4 (©) 1 D) 2

5. w000 Hier 1 3@ &, A, B/ 270 . T ' 340 . F wWiwid T ¥ | W H B,
‘C’ %l ez & I BT @ |

S40] |
'E"”Eﬁ In a 900 m race, ‘A’ beats ‘B’ by 270 m and ‘C’ by 340 m. ‘B’ beats ‘C’ by m in the

™ race. :

(A) 100 | (B) 140 (C) 70 (D) .200

W25~ ¢ -5-
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10.

(\/1375+\/1125)(\/1125-\/1375) Th /—m% |
(A) TfE (B) ¢/ .. (C) ERITE (D) T & H 75

number.

(V1375 +/1125) (V1125 -1375) I8 ——
(A) Rational (B) Prime (C) Irrational (D) None of these

afg Px N QV = R, ,?ﬁaP+bQ+CZR=
b-c c-a a-b X y

Px _ Qy _ F{z
b_c c-a a-b
(A) a+b+c

If

,thena P+b Q +c R=
X y z
(B) 0 (C) P+Q+R (D) x+y+z

Ife pud q ot o T, q \/g Fefer s TR G I | T Ig e T B 7
(A) & (B) F© i T % Thd
() & (D) 3T ¥ I3 TE

If p and q are perfect squares, then \/E is always a rational number. Is the statement true ?
(B) Cannot be said

(A) Yes
(C) No (D) None of these
o e Tty 4 97 # Tshafy e ot W e B St 1 27 T B < for o b wen

_ Fmlg B
A certain sum becomes 3 times itself in 4 years at compound interest. The number of E%Tﬁ
years in which it becomes 27 times itself is )

(A) 36 ~(B) 21 (C) 15 D) 12 .

for v i ww A1 il o R /Her ] we aw i i 6 6. /e 3 1 3G e B
N9 T 6H @R 2, A ur i fown H, q bt gt 99 A ° 0 THE
BT | o

(A) 1% e (B) 1% or (C) g%a’% (D) 1%

The speed of a boat in still water is 9 km/hr and the speed of the stream is 6 km/hr. If the
boat covers a round trip journey in 6 hrs, then the time taken by the boat to complete the

downstream journey is

3
() 15 hrs. (B) 1% hrs. ©) 2% hrs. (D) 1 hr.

01/25 -C -6~
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11.

@i

12.

& I W i : : i <y T 11 8 | T
ifea I Wﬁzﬁﬁqﬂﬁﬁs%,m@ﬁﬂ@a@

three erasers is T 18 whereas the cost of one pencil and two

erasers is X 11, Tpe Cost of each pencil is
(A) X6

The cost of twg Pencilg and

B) 8 . (C) T4 (B) %3

Waﬁﬁ’m%WZQOO%,W13%®W,Wwwﬁgﬁ%l .
#) 28 ®) 24 ©) 27 ©) ¥ A F T
Find the divisor, given thay 1ne gividend is 2200, remainder is 13 and the divisor is one-third
of the quotient.

(A) 25 (B) 24 (C) 27 (D) None of these

13. ZriéP’Q’Rqﬁ@‘E"m\jﬁ@P:Q:F{=2:3:4EﬁiP2+Qz+Rz=11600,?ﬁ P+Q-R=

14.

Et'[E
Felli
O oig

IfP, Q, R be whole numbers and p: Q: R=2:3: 4 and P>+ Q° + R° = 11600, then P+ Q- R =
(A) 18 (B) 20 (C) 15 (D) 16

TH WIS T e H, why o Rt 9§ <6 qer  10% T A @ | AR w A
I IS HR AT 10% T 5 T2 % 3,20,760 H A= 2, T A q6T G AT HR H1 Ge
o | EE

s
The cost of a car depreciates 10% every year over the previous year. If a person sells (=g
his car at a profit of 10% at ¥ 3,20,760, then the price of the car 3 years ago was

(A) ¥ 4,25,000 (B) % 5,00,000 (C) ¥ 4,00,000 (D) < 4,50,000

15. T THSHSH HEAT3A! x T y 1 &. 4. -4

LCM of two co-primes x and y is

X

A xy ®) y (©) x+y (D) x—vy

16. IR x BT T Weplas T@ &, W xs—%ﬂﬁm_“%wmwml

o 1
If x is any natural number, then x® - FWI“ always be greater than or equal to

1 1
(A) x%%_“ (B) 3("‘;) ©) 3(X+;] (D) x+§

01/25 ~ ¢ -7-
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17. yfe a ‘\’/6—‘\3/5,b—:86-|-§/§,C=%+§/g’d=\[é+\/gqae:‘/g“/gg'rmﬁmﬁ
w¥r-o ufay gen 8 7
@5‘-’.@ e e A7 4
B ia Y695 b-96.95, c=96+95, d=¥6+Y5 and e=6+ 5 then which of the
following is a rational number ?
(A) ab (B) cd (C) abcde (D) abde
18. wﬁmw%é,ahﬁtrmxﬁmﬁop.aﬁgvnaﬁﬁws.p.mtazﬁ,

e multiplied to set the S. P_, if the profit is 10%, then x =

o 2]

HTx__?@m,

The ratio x by which the C. P. hasto b

9
A 1o
11 10
© 15 - D) 17
19. IR x,y ¥ 50% A8, @y, x q %A 2 |
If x is 50% more than y, then y is less than x by %.
(A) 50 (B) 66§ (©) 33% (D) 25
20. Hf%@worﬁaﬁmwﬁﬁ}aanﬁéwﬁngworﬁaa@@ﬁgémﬁ
sAEE R AR A R, e A R
(A) 23§1rﬁ./z§. (B) 27%1#/@. (C) 13%rﬁ./©. (D) 25%rﬁ./€q.
%EE] If the time taken by a 170 m long train travelling at a certain speed to cross a 180 m long
E].&: stationary train is 15 s, then the speed of the train is =
(A) 232 m/s (B) 27 mis
3 3
1 1
(C) 13—m/s (D) 25— m/s
3 3
21. IR a=VI1++3, b=Vi2+2 @@ c=V6+V4 &, @
If a=V11+y3, b=+12 ++2 and c=+6 ++/4, then
(A) a>c>b (B) b>a>c
(C) c>a>b (D) a>b>c ,

25-C 5
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23.

25.

26.

st X2y . [E5=)
X+ 3 1% W engs Tﬁzﬁ &l qen anfl | L—': L{f .
(A) O
B) are . C) 4 (D) 3
The number of POsitiy s ©) X+ 2 .
® integral solutions of the inequation >1is
(A) 0 X+3
(B) Infinite (C) 4 (D) 3
3 5 Uil
& %%meﬁqamﬁﬁﬁﬁizoﬁaﬁw|3ﬂaﬁmm€rﬁ9ﬁ1‘ﬁ
|
]
42,
) @ 4% (B) = 8%%
]
(C) T 4=% - (D) =™ 8%%

X'bought 5 pencils at 7 24 and sold 4 of them at % 20. His profit or loss percentage is

1
—o 1
(A) Loss 46 Yo (B) Loss 850/0

e
(C) Profit 4=% (D) Profit 8%%

T HE N TSI T Asha] ) s w1 S 11: 9% | 30% TIH T 20% welepaAl Th
e T U § | e A g e el R A Een _ vkwm R

Ina qlass, the ratio of the number of boys to that of girls is 11 : 9, 30% of the boys and 20% of
the girls have passed an examination. The percentage of passed students of the class is

(A) 285 . (B) 25.5 (C) 235 (D) 24.5

L + d +...+ 1 =
B+l A1+ A3 2028 + V2025
(A) 21 - (B) 3B . (C) o (D) 20
qﬁn@ﬁ@ﬁ%ﬁ@'@l,?ﬁgzn—fn‘fﬁﬁz e ol g |
(A) 5 (B) 13
(C) <Ml (A) 3R (B) . ) Ad(A)TE T & (B)

. 2n 2n . EE
If n is a natural number, then 9 — 47" is always divisible by 'ﬁjﬁ':¥
(A) 5 ) (B) 13
(C) Both (A) and (B) (D) Neither (A) nor (B)

0125 - ¢ -9-
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27. v A, v, fafam g1 A9 e 4 g o A A 5 T
20% 71 2 | it areafas 1 G g 79 B A 0 T4 T

(A) 45 foz (B) 50 fFz (C) 25T (D) 30fFe

@3@ A person save 5 min. in covering a certain distance by increasing his speed by 20°. The

S AT, TE SR I T =

3
<

Bl time taken to cover the distance at his usual speed is

(A) 45 min. (B) 50 min. (C) 25 min. (D) 30 min.

28. XU 9] %1 3ifHd Goq C. P. F 60% ST WA 2 | T HAMME Fel 9% 10% F I 8 &
AAF WA TINR A famA 2

[6]Z)[s]
Ef% X marked an article at 60% above its C. P. He sold it at profit after 2 successive discounts of
10% each. The profit percentage is
(A) 20% (B) 29.6% (C) 40% (D) 35.5%,
1_.2
20. [T -HA A 21
The L.C.M. of 1 and 2 is
4 5
1
W 2. ®) 35
1
(©) 1 ® 79

30. Paﬂmaﬁam’iwawgcrms 43 | 37 =1 HT I 4:38 | PR 59a QH EvE
aaaﬁw % S 2 | PRI I I wEE %3 Eﬁg

The ratio of the i incomes of Pand Qis 5 : 4. The ratio of their expenditures is 4 : 3. The saving;

of P is more than th’at of Q by 16§ %. The percentage of his income spentby Pis _____ %.
1 g 2
54— e 51=
() 547 (8) 513
2 & 1
52— == 53—
© 823 , (D) 533

01/256-C -10-
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91"‘
it -
Part - Il
( General Knowledge ) R

Bl
31. HRd mﬁwﬁwﬁwﬁém%?
() g (B) TR I

(C) Tt ;

(D) FEHAT

Who among the following has power to declare National Emergency ?
(A) Chief Minister (B) Speaker of Lok Sabha
(C) President (D) Prime Minister

R IBRNE
32. A TouT fpg o 73 2 Ted e

10l
On which year, partition of Bengal held ?
(A) 1906 (B) 1913 (C) 1885 - (). 1965

33, TeRIGHSl A9 % AT I AW R
(A) Tepmfie (B) ¥mirfiex (C) STt (D) SHEhIUTH

Blood pressure is measured by

(A) Sphigmometer (B) Thermometer (C) Barometer (D) Crescograph
34, fopE TQT 1 TR g1 o e S R ?
(A) et TaT (B) v ey
(C) g el (D) et a1
[T;J’JL—:I Which soil is also called Regur soil ?
(A) Black soll (B) Mountain soil
(C) Alluvial soil (D) Yellow soil

35. W wig™ @] e g3 7
(A) 15 37T 1950  (B) 205FRI 1950 (C) 24 W a{l 1950 (D) 26H=d 1950

When was Indian Constitution was implemented ?

(A) 15 August 1950 (B) 20 January 1950 (C) 24 January 1950 (D) 26January1950'

01/25 ~ ¢ Sl
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36.

z

171
Gods

37.

38.

39.

40.

247

SEE ST ) v i e T
(A ST T BeaTehis

(C) FTHRI TeaT F SR -

(D) 'Eﬁﬁ-ifm il

?
\Vhy was Non-cooperation Movement called off
(B) Chitgaon case

(A) Jalianwala Bagh massacre N
(D) Chauri-Chaura incident

(C) Due to Kakori case
S it g e A AN GL
W T (g e (O I, (D) T

Which type of mirror generally used for face looking 7

(A) Convex mirror  (B) Plane mirror (C) Concave mirror (D) All the above

fr=feian 3w srnfars wfe 1 g 8 7

(A) e (B) 31 . (C) |l (D) T
Which out of the following is an example of non-metallic mineral ?
(A) Copper (B) Mica (C) Gold (D) Iron
HaTer 1 TS al B 7
(A) SFRI (B) T
(C) TSIt (D) TR -
\ [=]2][a]
Where is the capital of Meghalaya ? 'E"ﬁ
(A) Imphal (B) Shillong
(C) Aizole (D) Gangtok

it <1 9fy e 97 @ WA STA 2 7

(A) WTgHIHIE (B) HedHIX
(C) SHERIUTH . (D) dieeHiX
Which instrument is used to measure the growth of plant ?

(A) Micrometer (B) Multimeter
(C) Crescograph (D) Voltmeter
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4. AT AR e e § e gan o

(A) =ed T3 9o (B) T HIEH {1
(C) TAYHE TE | (D) HrEwE el e
oo
i:l%:: Who led the Bardoli Satyagrah Movement ?
LR
~ (A) Ballabh Bhai Patel (B) Ram Mohan Roy
(C) Jay Prakash Narayan (D) Md. Ali Jinnah

42. HIGe A UTH HE I@EfRg § 7

(A) HEMS . (B) -TEh
(C) T&Er (D) 3ITEsS
Where is Corbett National Park situated ?
(A) Maharashtra (B) Karnataka
(C) Bihar (D) Uttarakhand
[=]%![]
~ NI X N s
43. HIT 2025 H ICC foRe T IRl wree 61 Aserl s-a1 29 won 7 (=12
(A) RIS (B) <fetur 31hiept | (C) WRd (D) Frferan
ICC World Test Championship final — 2025 match will be hosted by
(A) England (B) South Africa (C) India (D) Australia
44. I Hoigy fesw pa T mame smar @ 2
(A) 17s. (B) 22T (C) 14 Sl (D) 7 A%«
When is the International Labour’s Day celebrated ?
(A) 1 May (B) 22 March (C) 14 January (D) 7 April
; " &
45. Armehrel il @t — 2028 forg <o & smafma B 7 %Lil
(A) wig (B) St
(C) HIF TST IR (D) St
In which country, Summer Olympic Game — 2028 will be held ?
(A) France (B) Germany
(C) United States of America (D) England
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46.

47.

48.

49.

50.

51.

R 51 -1 e areer =51 vy 5 A1 & ST A 7

(A) 9T (B) Vg™ (OREREUES (D) ATl

Which district is known as ‘Rice Bowl’ of Bihar ?

(A) Patna (B) Rohtas (C) Kishanganj (D) Nalanda

T S aricer fra Ry § gan 7

(A) TER T iy (B) GHIGL = sy

(C) ENrpe Wiy (D) ™ & HIE T&l

B

: Narmada Bachao Andolan was held against which of the following ? (%ﬁﬁ

(A) Sardar Sarowar Dam (B) Damodar Valley Dam

(C) Hirakud Dam (D) None of these

AT forel e 61 v o ad g 7

The Reserve Bank of India was established in the year

(A) 1930 (B) 1935 (C) 1920 . (D) 1925

HERAT TETed Hie Fal STafed ® 7

(A) SITTETE (B) TR (C) T | (D) feritTe

Where is Kandariya Mahadev Temple situated ?

(A) Aurangabad (B) Ajmer (C) Khajuraho (D) Chittorgarh

forarere oihi fopm oo © STfSTe fopam St 2 2

(A) T (B) Wrd (C) Imeferm (D) %9

[=]&!
Wimbledon Trophy is played in which country ? %—’d‘ﬁ
(A) England (B) India (C) Australia (D) France -

= 4 @ 9 W-FN eRa Iam g 2
(A) = e (B) =t IEm (C) g ST | (D) S &M

Which of the following is non-agro based industry ?
(A) Leatherindustry (B) Sugar industry (C) Tobacco industry (D) Jute industry
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56.

Lnlé'l"]
W ISy

I ¥ T o 't
The period for First Five Year Plan was 1955

(A) 1951 - 1954 (B) 1952 — 1957 (C) 1947 — 1952 (D) 1950 -

WY W §

") T @) faeiom T

(C) ST MR fyeres (D) g Y AR

Who was called ag ‘Deshbanghu’ ?

(A) Rajendra Prasag (B) Chittaranjan Das

(C) Bal Gangadhgar Tilak (D) Ravindra Nath Tagore

34T TS BT TR R &% § Iueifsy 3y femn s @ ?

(A) &= ®) T () Wi () R
For the achievement in which field, Dada Saheb Phalke Award is given ?
(A) Sports (B) Medicals (C) Literature (D) Cinema

e @S it ST 1 S T R 7

(A) dlaT . (B) s (C) | (D) &
Which mineral is called as mother of industries ?
(A) Copper (B) Manganese (C) Gold (D) lIron

EINE]
vefietor w1 37k B Bt
(A) foeeft =R | U%

(B) = gl W A=

(©) wﬁmwmm%ww )
(0) ¥ & = T

The meaning of Gfbbalisation is

(A) Control on foreign trade

(B) To control ovef industries
(C) Collaboration between national and world economy

(D) None of these
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57. ST i T @
(A) Sier (B) 3 (C) ¥ (D) dIS, i
{-*&j T
Currency of Japan is Y@n‘g";
(A) Dollar (B) Yen (C) Rupee (D) Pound
58. mwwaﬂﬁ%%{qﬁwﬁﬁaﬁﬁﬁﬁmmwwm% ?
(A) Tl - (B) wRRH (c) i (D) e
Which of the following type of medicine is used for treating indigestion ?
(A) Antacid (B) Antiseptic (C) Antibiotic (D) Analgesic
59. IR GG & Ued @ik BIdl 8
(A) Toem foen werfeesrdl (B) = <&
(C) wEe fywm wgriei - (D) T8 ¥ HIg Tal
[=]2[e] . -
ey & The Ex-officio secretary of Panchayat Samiti Is
[EI &L
(A) District Education Officer (B) Nyay Sachiv
(C) Block Development Officer (D) None of these
60. fre § & HI TR o TE T ?
(A) ifeRaT (B) froma=4 (C) hIhT hICAT . (D) ETET
Which of the following is not a multinational company ?
(A) Nokia (B) Reliance (C) Coca cola (D) Samsung
[=]%![=]
61. mwaﬁamﬁmwwﬂ'@m% Eaﬁ
(A) T JEHR (B) TAUS &R .
(C) W It TR (D) &R =k T
The highest Civilian Award of India is
(A) Padma Award (B) Gyanpeeth Award
(C) Bharat Ratna Award - (D) Veer Chakra
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62
o
) Hremah
The capital of Tg|

. Elngana |S
(A) Dispur
(B) Kawaratt]
(A) STESHETS

(B) wiferera

(C) ATl

(C) Amravati

(C) whifeea .

Who is the writer of he book “Arthshashtra” ?

(A) Chandbardaj (B) Kalidas

64. GDP =l Ul 9 w1 3 -

) s S sew |

(C) TE S Wewe
YE,EE What is the full form of GDp 7
ol

(A) Grand Development Product

(C) Gross Domestic Product

(C) Kautilya

(B) T 5T e
(D) ¥ & i T

GET IT ON
Google Play

(D) &eUEIa

(D) Hyderabad

(D) FEA-HM

(D) Huen-tsang

i

(B) Great Double Pact

(D) None of these

65. Fefeifaa # & e 1 FA-w1 e e w1 gemers € 7

(A) UHIES (B) T _

(C) E

(D) S T+t

Which of the following allotrope of carbon is good conductor of electricity ?

(A) Graphite (B) Coal

86. R h IU-Trsgufe i & 7
(A) . . Tgr
(C) mfewieprT Wl
Who is the Vice-President of India ?
(A) J.P.Nadda
(C) Mallikarjun Kharge

(C) Diamond

(B) 319 fewem
(D) WU 4 Ee

-~

(B) Om Birla
(D) Jagdip Dhankhar
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67. ‘o= AT Ma fesees gr foren ™ ?
(A) Tl @ w7 (B) FTTEA I
(C) sform = =esff (D) TS 1
E[E]
[% ._;{j The National Song ‘Vande-Mataram’, written by
(B) Sanyal Dev

(A) Sachin Dev Barman
(C) Bankim Chandra Chatterjee (D) Ravindra Nath Tagore

68. STEHfd HIF-HT THIET 8 ?

(A) I (B) 3Ta

(©) (A) 3R (B) T (D) ¥ & ¢ Tl -

Vegetation is a type of resource [jj‘{

(A) Biotic (B) Abiotic

(C) Both (A) and (B) (D) None of these
69. WRd & facu Fft HH & ?

(A) Ty T (B) Hfird e

(C) ©I. TH. STHIHT (D) Wi | & HIg TE

Who is the minister of External Affairs of India ?

(A) Piyush Goyal (B) Amit Shah

(C) Dr. S. Jayshankar (D) None of the above

[ ]

70. TRy # e IEHE 8 %%@:

(A) WIS T T8 (B) SRS T T

(C) el & & - (D) 3T 3T T qET

The Xylem in plant are responsible for

(A) Transport of food (B) Transport of oxygen

(C) Transport of water (D) Transport of amino acid
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EYE ( General Hindi )
(A) 3w -
(B) 3™
© (D) 3tfaer
72. BT = W Y
(A) F&a - M
(©) o (D) Towem
73. W IS R, B Fw 7
(A) G’ "~ (B) v ©) e
74, fre & W a7
(A) ™ (B) I (C) EU .
75. ‘TG W W ﬁ@qg
(A) T . (@) (©) v
o
76. friiwur wisg Y i@t |
(A) WSH (B) & (C) WX .
G
1 mﬁq—mméz
W wwE (B) &% W
(©) i T (D) FHERT T
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78.

79.

80.

81.

82.

83.

84.

85.

= |V

O WTeE T wireTe wreg A R
(A) TroreH (B) orfa

fadeR-mem s R ?
(A) W& -
(C) e

= w1 iy frede &
(A) < + e
(C) T + ¢

e v w fafgawli |
(A) T (B) I3

@aéﬁaﬁmwm%'?:

(A) wgshfe wama

(C) TF T .

i T A Rl A

A fra (B) fwed
%ﬁwﬁq—mm%?”-l

(A) TegeY WHIE
(C) HHUT THE

(A) STRETE
() AfmET=I®
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e (w4, 86 R g9 %):

ﬁmmmﬁ |
EIE*'IE!

S

T I &I 1 T
3R T W AR
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86. IR Terw F frw Ruam 6w e T 2 7

TR
R 6 wrifires e o wwE, dgeed, WIS, ST FW AT HW
TER A i % e g Wi @ | i i % et @ st 3
T B 3k 3 ik & HeR 2R 2 | gafr § wrfiona HaRE % TR IR
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ﬁ%mmmﬁmwa@mmﬁﬁ%@@w

EYE

i

(A) = e (B) arfam fren
(©) N frem (D) i fra
o ErE
87. W%!"El";ﬁm%‘ﬁmﬁwqﬁf%? B
® TRIA - (B) dgesdt
(C) wfa | ) 7
88. %Haﬁaﬁaﬁwﬁmwmﬁﬁm@%?
(A) St (B) TR,
89. gl il % wrehi # 1 T AT & |
(A) © I (B) i
(C) s $l . D) = =
90. mmmmaﬁaﬁammﬁ%?
(A) #rar-far - (B) SrET-r=h
(©) e~ (D) -7
91. Wﬁm%mﬁ
(A) e - = B) 3
() fore TR w7 (D) ST
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92. FGA B TH' e AT R 7
(A) wa (B) wem

93. W & fa & wErwR w1 & 7

(A) TR & .
(C) iem ot wt

94. THS Fopm wwr # s W@ & 7
(A) &t (B) =T .

95. ‘ﬁf@m@?’wmﬁmmdﬁﬁm ?

(A) WETE . (B) wigd

96. UM Y B MM FA Y 7
(A) EHFT  (B) 3Tem

97. 3Vl SIS T 1 HEl N AT ?
(A) BeETg B) feeeht,

08, 7 Sraer e B
() T . (@) W

99. T A I T ek I AT 7
(A) 15697%. (B) 1469%.

100. ﬂwwmwmaﬁgm?
(A) 182737 «
©) 18255 %

(C) e ARy

(B) e HHI gt
(D) 3T

(C) g

(C) aseT

(C) I W

(C) & g

(C) 1269%.

(B) 1830 3. #
(D) 1823 ¥. ¥
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